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Correct Option selected Wrong Option selected or Not Answered Correct Option

Q.No: 1 Dandiya Dance is related to which of the following states? sifsar 7o frafafea o ¥ fra Tsu ¥ et 82
A Karnataka Ffew

B Uttar Pradesh IW U™

C Maharashtra %‘g 7

D Gujarat TeRTd

Q.No: 2 The Aihole Inscription is associated with which of the following rulers of e Rrarerg TrqE 49 3 PaRied 7 3 frg § e 27
Chalukya dynasty? ‘

A Pulakeshin II qadiRH fida
B Krishna I T I
C Vikramaditya fosmafes
D Rajrajeshwar I ICREYR TYH
Q.No: 3 Wrong statement about UPI is UPL % 9R & Tad w97 §
A It was approved on 11 April 2016 9 11 30T 2016 B Wipa fbar v ur
B It is developed by National Payments Corporation of India T WRdra Wy e g e fm wr
It is a mobile platform based interface to quickly transfer v s i

c momey R N g TP HiaTsa Wewid snuiid Sevih € S oiedl | TUY GRIBR BT
D It's full form is Uniform Payment Interface ELNEY ‘1177 = T{ﬁ'ﬂﬁ"‘f e Sexba 8
Q.No: 4 Choose the incorrect statement regarding the Mauryan Empire. o TSy % WY W TTAd HYF Bl T DI
A The provinces were divided into districts called Janpadas. vial % foral # Ry fear mar ot R s=ue $81 wirar Tl
B The empire was highly de-centralised. TSy i fadsepa ATl
C Gandhara was a province of the empire. YR HIHST DT TF Fid 4Tl
D Head of the province was called 'Kumar' or 'Aryaputra’. wid & QR B "HUR" A7 ARG HT <A ATl

No: 5 When was the Enhanced Access and Service Agenda for Public Sector TS & % W%{[ ( EASE
Q:No: 5| b nks (EASE) launched? ) $2S UEY TS R USisT BT AR B fpar T
A 2020 2020
B 2010 2010
C 2018 2018
D 2008 2008
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Q.No: 6 Which of the following is a type of folk dance? o # ¥ $1F 9 9% T B T THR 8?2

A Kuchipudi Tﬁfﬂﬁ

B Sattriya Ear

C Bharatnatyam HAATSIH

D Bihu fag

Q.No: 7 Sonal Mansingh is a famous Wﬂ'ﬁﬁ%’wm %‘I

A Classical Singer RA TaH

B Astrologer aifadt

c Classical Dancer ARAG T

D Painter ICECAN

Q.No: 8 Non Scheduled Banks are those banks- ‘ﬁ? SWH Yradw ¢ -

A They are not nationalised \% ﬂg’ﬂﬁ T@%

B Their name is not in mentioned in II Schedule of RBI Act, 1934. IT W ARSI, 1934 Tt g gt & sffaa T8 81
C Their headquarters are outside India ‘W TONad YR & aER ©

D They are nationalised 3 Mg §

Q.No: 9 Who has become the 24" Chief Election Commissioner of India? R & 249 T TG 3T S T &7

A Sushil Chandra =ite dgr

B Mohit Agrawal Hifgd srrara

C Ajay Thakur SOl BTPHY

D Aman Purohit B 3 Rifga

Q.No: 10 | Which of the following statements is incorrect about NABARD ? NABARD & IR # fgfifad & § &1 91 sy e 8?2
A It's headquaters are in Mumbai mg@mgﬁéﬁ%

B It was established under the Seventh Five-year plan 3'@ AT} U=ayTg GieHT & dgd Rt fear Tar ut
C NABARD was established in 12 July 1982 NABARD %t RIT0AT 12 FaTs 1982 Hi §8 It

D ;;:;r:;ﬂ:: credit facilit;for the promotion and development of T q;h ¥ TR iR e ¥ forg 01 'ﬁﬁm T ST %
Q.No: 11 \r/]\lar:]iqc:(;)ff‘?aen;?:;?;ving rulers in Mughal empire was known by the ﬁamﬁﬁﬁmwaﬁwmmﬁ e 3 T QST ST 4T
A Shah Alam II TMe 3{TeH I1

B Farrukhshiyar ‘ TFeTRAR

(o Mohammad shah HgWg e

D Jahandar shah ‘WW

Q.No: 12  Who among the following is related to Kathak dance style in India? FPofated & ¥ B9 uRd & U ER el I et g2
A | Laxminarayan AGHFRIUT

B Rukmini Devi Sfqnoft &t

c Birju Maharaj vy weR™

D | Muthuswami gyt
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Q.No: 13

= |V

Which of the following personalities was selected by Gandhi as the first
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Fafefad o & fog aafaaa @i mif gR1ad 1940 F @ Sifgge sficre 4 ugd

individual Satyagrahi in a nonviolent movement in the year 1940? fRITd TATIET & =0 T AT T UT?
A Vinoba Bhave [CRICIRNE]
B Valmiki areife
c T. Prakasam & o=
D Jainul Abdin ERGRCCE
Q.No: 14 Who is the author of the book titled Zohra! A Biography in Four Acts?  SlIexT: U STARITHI 57 BR UacH HG TKP & oGP D 87
A Ritu Menon ﬂ‘g{ﬁﬂ?
B | Amitabh Ghosh SftraTH Ty
C Arundhati Roy 3rsyfa I
D Vikram Seth v S
Q.No: 15 The wrong statement about the Slave dynasty is- AW 99 & SR B Tad HUF 8-
A Qutubuddin Aibak was the founder of Slave dynasty. FYIEM TP AT I BT TS AT
B The slave dynasty started in 1206. AT 3 B! FYeATd 1206 H g5 A
C The last ruler of slave dynasty was Nasir-ud-din Mahmud Shah. T 931 3T Sifad IS THR-IG-GIH HGHG WME AT
D The early rulers of slave dynasty were called Mamluk sultans.  T@T9 931 & JESATH ATTH! I UGS Je<dT= HT ATAT AT
QN0 16 o and bounded by the Arstion St o il et & o s e R @ A o e A
A Gujarat TiRTd
B Rajasthan TR
C Uttar Pradesh IR IS
D Kerala Eax]
Q.No: 17 Where does the Luni River end after it leaves the Pushkar Valley? g 91t & e F a1 ot Tl el S gt 82
A Caspian sea SR 9TR
B Arabian Sea SRT AR
C Mount Abu ST 3MTq,
D Rann of Kutch T P 0
Q.No: 18  Mohiniyattam dancers conventionalilry wear ___ color sari. ﬂ‘ﬂ%:ﬁ&rgw T URURF =7 F _ [ Br W—&ﬁ Tgd B
A Off-white Jip-TTge (Yfre Tate)
B Green w
C Pink Taret
D Red GlG)
Which river originates in the ‘Rakshas tal’ near Mansarovar at an altitude  fds5d # 4,555 Hiex 31 SO R IFRRIR $ U &G da T HF I 7
Q.No: 19 of 4,555 m in Tibet where it is known as Langchen Khambab ? ﬁ?ﬁﬁﬁ%, EET%@W‘T HaE & WTH@(GIF{TGHHT%?
A Satluj Hagst
B Indus Rigy
C |Beas Ele)
D Ravi R
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Which of the following is credited for the political
Q.No: 20 integration of over 500 princely states into the W UReT 9 & 500 ¥ o famdl & Jemiiae Teiexu o 949 Fufafed § 9 fed faar o 82

independent Indian Union?

A Lala Lajpat Rai CIGIGIGEG IR

B Nirad C. Chaudhuri ivg Wt et 7
c 'Milkha Singh T R

D Sardar Vallabhbhai Patel WER TWHTE T

Q.No: 21 A vent in the earth’s crust through which the molten material erupts out q@ﬂﬁqﬁﬁw = R T %ﬁwgmwﬁwﬁw 3

is -

A Tsunami gt

B Catastrophe 3T

C Earthquake Y&

D Volcano I e e |
Ron observed some features of the

No: 22 animal possessing feathers covered body and rﬁ#a@%waﬁmaﬁwﬁ&ﬁm Qi?@%ﬁﬁ'{?ﬁﬁ% 3R I F aﬁaﬁd@ﬁmﬁmmél

Q-No: front limbs are modified into wings. Help Ron 3 @ g8 Udl @ H Heg o P Ug oaR fg aif @1 g2
infer that to which class this animal belongs?

A Aves LEIE

B mammals U

C reptiles LN

D fishes Tl

Q.No: 23  Name the fungus growing mostly on pickles during summer season? Tl & A 3R R ST 9 B o1 919 Sargul

A | Neurotoxins R

B bT toxins i fawrea tIaT?-f
C | Exotoxins TaR I

D Mycotoxins AgoIeiea

I UH W YD § ATURT &5 B o YBT §1 37 Y: MU gof 716l B A1 wPpAT

Q.No: 24 Digestion of food is an example of . YIS &1 e BT IR 51

A Irreversible change Sruf¥ad-g ufyadT

B Chemical change IME TRadd

C VPhysicaI change - Wfrw aRada

D | Reversible change ufRad-tg ufead=

Q.No: 25 — rainz.:md ___ are two gases present in polluted air which can cause R veRdedd g 0 & enca axf &1 SR a7 Tt B
A Sulphur dioxide and Nitrogen dioxide TP STSATHIES 3R ATScior SEsiiaEs
B Sulphur dioxide and carbon dioxide TR STESHHITES SR BIET STeiiass

C Carbon dioxide and Nitrogen dioxide WS‘I’E'G{TWEG GﬁT:IE@GFI 313&1%\‘"33
D Carbon monoxide and Nitrogen dioxide FHIET AIATFTES 3R Ao SRaigs
Q.No: 26 ‘The blue revolution was implemented to conserve what? teht wifa frad IRemr & ﬁlﬁmﬁbﬁﬁ DIKs

A |Ocean g

B Water L]

C Fishes and their derivatives Tofat ok 3% Sfkafea
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D Gasoline e
is a group of living organisms comprising similar wifqd Sitdl &1 TH RS % st gum Jafege i g % il
Q-Noz 27 individuals capable of interbreeding and producing fertile offspring. TRER TSF AR SUSTS S UeT B & Wem 2 gl
A Fauna Sg-sig
B Abiotic st
C | Biotic ﬁﬁ'cﬁ
D Species It
Q.No: 28 | Why gymnosperm is called so? et 1 T4 ot el ST 87
A ‘ they possess simple leaves IT% U HIYROT G ?
B they possess single celled species. I U TP DIRABT qreil yonfear §1
C they possess showy flowers ITF U femradt P g
D They possess naked seed. I U T A %I
Q.No: 29 | Which of the following nitrates is used in photography? FofRa dIsR H‘I%?A'c' RIS § IuTT fEHa S 82
A Aluminium Sregifaas
B Sodium wifeaa
C Silver Tl
D Magnesium AHIREE

SH Y W Yd F SMARY o T S P §1 31 T Smuiy gk AL @5t S It

Direction: The following question consists of two
statements one labeled as ™ Assertion” and the

o:hter r:sr:tReasror;".l IYDUnzaVE; tot i:jaminre t':es: 5:’"’? gz Fafafed vy 8 < U7 & 9 9 @ 1 sl 3R g &1 "SR % w0 A e T gl
statements carefully a selec € correct answe ‘Gﬂmgaﬁmﬁ ﬂ f mm%mmw& fﬁ%tﬁ[mﬂ_ﬁﬁmm%l

to the question from the given options.
HRYPYT: (T) TS B UHSH $ AT T F HBR & et B =R whie Fe oran 2
FRU: (R) T THRT B @R § TR 3 ABR! gl ol g

Q.No: 30
Assertion: (A) Jug shaped traps for catching insects
are called pitcher plant.

Reason: (R)They feed on animals hence are said to |
be as carnivores. ‘

A only (A) is true Fqd (T) TA 8

B only (R) is true ‘ a9 (3R) T &

c Both (A) and (R) are correct. EGEMEHESE]

D (R) is the correct reason behind the assertion. (3[R) TE FROT %I

Q.No: 31 Which amongst the following is not a phyla of the plant kingdom? Fofiiad § § SH-91 Uey d ®1 TY el 82
A Chlorophyta E@WEET

B | Pteridophyte cheiwrge

c Bryophyta EILILREM]

D Thallophyte a?ﬁ'FISE’

Q.No: 32 Light years is the unitof ___. USRI TY B SPE 8l
A Sound sty

B Temperature GLEGIE]

C Distance il

D Light Tt
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Q.No: 33 l;l:nr:pel;hee;o:;;(:o:iame that has the most oxygen and gets e 3 1 BT 1 Sqeu R wed ofie sime At 2 ik ‘{Ufaﬁ:l A
A White part Hpg URT
B ‘Yellow e
(o} Blue RiGH
D Black Eal)
Q.No: 34 | Which of the following gas is used in vehicles? Fafaiea & 3 F9 @ 79 a4l # vai B 9 /2
A PNG et ’
B 'LPG il
C TNT [HLE
D CNG Aot
Q.No: 35 What is the SI unit of electric current? faegd 4RI &7 S1 AFe a1 72
A Kelvin (K) Hied T (&)
B Kilogram (Kg) foem (fe)
(o} Ampere (A) R (T)
D Candela (cd) Fam (¥
Mathew told his friend Sham, pointing to a photograph “Her father is f{ﬂlef 3R GRA W &1 TF TR B AR EHTRTWEE%T,
Q-Naoz 36 the only son of my mother.” The photograph is of whom? iecalien ke ikl Sﬂ?’fﬁ?ﬂ T %I" el frge %?
A Mathew’s daughter g &t &
B Mathew’s sister Qog FHt 75T
C | Mathew's mother Tog &t A
D Mathew’s niece - : Vﬁ?-q\ifﬁ yefieft

The given question has a main statement followed by four statements.
Choose the ordered pair of statements, where the first statement implies ' f&T 7T U | T pY+ 3R 3P 918 IR HYF &1 HY BT it gy %ﬁ, ERR
the second, and the two statements are logically consistent with the BT BT AT IR B |, 3R & HY W T T HY Y I

main statement. )
Tl o dl ehiay # o arae J §
The fish is either in the aquarium or in the pond !
Q.No: 37 A, TEE TSR # §
A. The fish is in the aquarium o a
B. T UHRaT & T §

B. The fish is not in the aquarium

C. Tl s A 7
C. The fish is in the pond B, u@ﬁ’rwﬁ:@f%
D. The fish is not in the pond

A AC AC
B DA DA
Cc BD BD
D |AB AB

Select the letter-cluster that can replace the question mark (?) in the Frafafea Jear & 39 SieR-Tag &1 997 o W uy fg () & ufawiita s
Q.No: 38 following series. W%I

BXRJ, DVTK, FTVL, HRXM, ? BXRJ, DVTK, FTVL, HRXM, ?
A NPOQ NPOQ

JPZN JPZN

|MOPQ MOPQ
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D OPQR OPQR

Given question has main statement followed by four statements. Choose
e o oy | T 50 ke ey v v ) 9,1 e
St giealy P BT AT IR U B, AR A e difbs wU O GE HY F G §
The expenses will be reimbursed by either the government or the & WW o TRA g1 1 S
Q.No: 39 298" A. TR GRI T B uRgf 3w
A. The expenses were reimbursed by the government B. TR gRI TF 3 vfagff 78t ot 78 &t
B. The expenses were not reimbursed by the government C. Td 3 vfagfd okl gr1 Bt 718 o
C. The expenses were reimbursed by the agency D. T R T Bt wigf T 3 T
D. The expenses were not reimbursed by the agency
A DA DA
B BD BD
Cc CA CA
D AB ‘ AB
Q.No: 40 | Choose the correct mirror image of this combination- INPUS79T. 9 WaieH B 9! U 8fd gA- INPUS79T
A WIQUexaT MIQUeRET
B InessTay InexsTay
C 1eX8UINT 1BNBUINUT
D TRv2UIMI TV I AL

JH WY TR Y A AT gof Bt o G g1 30 T SR gof At BT =1 A
Select the lettered pair that has the same relationship as given in the

) | 3T &R T BT 90 B3 RO Ty oy 7 3T 10 w9 geiy 3 &
Q.No: 41 question:

Cool : Cold - W

A |Gold : Bourne b

B Length : Width darg : s

C Plant : Tree e : aTs'

D Pretty : Beautiful STHYD : Ga¥

No: 42 W is the sister of A’s father. A is the son of P. But P is not the mother of W, A & foam ?ﬁﬁ'ﬁﬁ%l A, P&IT 113{%| Qe P, A P AT Hﬁ%l W,

Q:-No: 42 5 Hiow W is related to P? P g THR wafte 27

A Wwife et

B Sister 89

C Daughter EG

D Brother utg
In the following question, a series of letters is given. Some letters have e . g ; ; ;
been removed in these series, and they are in the options given below % N gg;{%ﬁqﬁ mw_;i;l; ﬁ%ggigmﬁ;{&% %qu
the series in the same order as they should be. Study the given series ! et & . ; ‘ . ;
carefully out of the four alternatives given below, and find the one that g:]:q agﬁ;jg@rg E’cﬁi ?QW M i PR J %h'gﬁ el

Q.No: 43 best fits in place of the missing letter of the series.
a__bb__caaab__bcc__aaaa a_bb__caaab__bcc__aaaa

A lacch acch
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B acbb acbb
acbc acbc
D a bcc abcc
No: 44 Nayan is the son of Ravi. Ravi and Tarun are brothers. Rima is the wife T 39 BT 9 %I M &R T 'HT%%I A7 T2 B Ul SR A7 B HT%I
Q.No: of Tarun and mother of Naina. How is Ravi related to Naina? Tﬁ, A U ypR geftd %?
A Uncle T
B Son 9
C Daughter El,':ﬁ
D Father foram
No: 45 Vishal is the brother of Divya and Divya is sister of Ankit. Ankit is o=, feem &1 urg § ol e siferd &t 91 81 sifdsa B+t &1 WiE B
Q.No: brother of Fenny. How is Fenny related to Vishal? B, fowner A fpa veR defta g2
A Sister qeq
B Brother or Sister 'l-rl'{ 1 98+
C Brother g
D Father foram
Select the option that is related to the third word in the same way as the 39 fi&ed BT 909 &% o TR Ieg F I UHR el § I8 o1 W Uga I ¥
Q.No: 46 second pair is related to the first pair. & gl
Japan : Country :: Asia : ? S ;W wREr: ?
A State I
B Hill- Station e =M
C Continent G
D Ocean HEHITR
Q.No: 47 Choose the correct mirror image of this combination- GB89JH. 3 Yo 31 et guur 3R gH- GB89IH
A doeslH doeslH
B H82DA (H8eoa
c HleggD Hle8gD
D od8eHL Dd8eHL
Q.No: 48 Choose the correct mirror image of this combination- CDE. 39 oM 3 gl adu B gH- CDE
A an an
B 2a3 2d3
c 23d 23d
D a3is a3an
| Select the correct mirror image of the given figure when the R P : &
mirror is placed to the right of the figure. ?ﬂTri? aﬂaﬁzﬁm@ﬁmwﬁmmﬁ ﬁtﬂé&ﬁ? mﬁﬂiﬂél
Q.No: 49
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o S 2

- R
-
- &
- i
Select the Lettered pair that has the same relationship as given in the I SHeR T BT T ¥ o Sy oy F Ry 7T 9 gew @ 2

question:
Q.No: 50
Balance : Weigh ML e
A Aeroplane : Height TS T : ﬁ]isf o .
B Television : Picture Tohifaer : o
C Satellite : Revolution JUTE : Wifd
D Radar : Detection TSR : feea=m
Q.No: 51 g?:;’:\fvt:;égrgrj;TEi;;‘;rDilmage of this combination- 3 Yo T aor oY 93 BIHIFYVFDFI794661EWSD
A WA 103k AT YHITIE 7 273 100kt ATV YHLIIE
B eV d1aktTHATVYIIHIA W12 etHATVYTIHIE
c deWH okt 4aIVYIliHg AeWH ket 41V YIILHE
D 21T FIATV YL HAL AW 1aokeT ATV YITHEL
Select the option that is l;elated to the third word in the same way as the 39 faeey &1 Ta & S iR Vg F I UBR Hafda % EE g U%?f gH I
Q.No: 52 second pair is related to the first pair. Teifdrd B1
Rabies : Dog :: Ebola : ? W:W:: 3@?1’[:?
A Fish LEL
B Cat foeht
C Bat THIGS
D Mosquito AR
Binku is brother of Dinku. Dinku is sister of Pinku. Pinku is brother of fig, g &1 21 &g fig @t e g, R @& urE 71
Q-No: 53 | piniku. How is Rinku related to Binku? i, fig & fr TR Fefa &2
A Brother or Sister 'l-l'l'-:zF q1 98+
B Data inadequate T At
C Sister GRol
D Brother Hrg
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Given question has main statement followed by four statements. Choose

Q.No: 54

o 0o w >

the ordered pair of statements, where the first statement implies the
second, and the two statements are logically consistent with the main
statement.

The animals must be either in cage or in zoo
A. The animals are in cage

B. The animals are not in cage

C. The animals are in zoo

D. The animals are not in zoo

|AB

DA
CA

BD

In the following question, a series of letters is given. Some letters have
been removed in these series, and they are in the options given below
the series in the same order as they should be. Study the given series
carefully out of the four alternatives given below, and find the one that

GET IT ON

Google Play

U T Ty & TReT BUF SR S I1G TR FYF §| HUAT BT Hivd T T, 8T uga
HY BT AT G BY F B, 3R & B aiichd U J GBI B J G B

STFERT 1 a7 o e & a7 fafsarer & € =g
A, TR froR § §

B. WaR fioR & 7t §

C. IR fifearer 4 &

D. WM fifgameR & et &

AB
DA
CA
BD

Frafafed uy & oeRt @t oo goa @ TS §1 T dwansh H# 5o R ge iy
2, 3R 3 ymen & 19 Ry e e § S ®a § € 98 3% e TRyl 9 Ry
T TR fawedt & § < S e 31 AFgEE srerae B SR ST & g el B
M R 9% fdded IS o vad 39gad gl

Q.No: 55 et fits in place of the missing letter of the series.
aba_ baga.  ba bacaabac_seca aba__baca__ba_ _bacaabac__aca
A ccab ccab
B babc babc
Cc cach cach
D cabc cabc
There are 50 students in the final examination of class IX and 14% failed. T IX B 3ifaw Tfien # 50 BH § 3R 14% Giﬂ?ﬁﬂfﬁﬂl’l il §9 AT
Q.No: 56 Find the number of students who passed. CRIRRI B AT F1d Tﬁrﬁr{ql
A 40 - 407
B 43 43
c 45 45
D 42 7 42

IR T W QI H MR g 1 o I 31 I T: SR G Y B o FHA

What will come in place of question mark (?) in the following
expression?

Fofafea oive § oy {F (?) & ®-F R w1 smem?

.No: 57
: 70% of 1880+84% of 1100-56% of 675 = ? 1880 170 % + 1100 PT84 % - 6753156 % = ?
A 1862 1862
B 1858 1858
C 11865 1865
D 11860 1860

If Priyanka got 96% marks in class 12th. If this score is 480, then what 3R fiRieT &1 124 Fem & 96% i i §1 afg 77 3iF 480 B, O wlen & o

Q-No: 58 is the total number of marks in the exam? fra W%?
A 1600 600
B 500 500
c la90 490
D /550 550
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There are 27.5 Lakh male and 35 Lakh female candidates are studying in R . - i :
University T. If the total number of males in University T increases by fa T ﬁ 27'5. s W SR .35 i g ¢ € AR . "
Q.No: 59 fayfaamas T & g30i @ Fa wem & 50% @1 3fS B B, A 39 Ayl § o

50%, what would be the total number of students (males and females 1 .
QW H %51 ﬁ?‘] h aia;i ?
together) in that University? ( 3N Sff 1 ) @t ENAiC Bt

A 76250000 76250000
B 75260000 75260000
(o 7625000 7625000
D | 7526000 7526000
SBI lent Rs. 1331 lakh to the TATA group at
O.No: 60 compound interest and got Rs. 1728 lakh after 3 | THarg 7 TATA 4 aﬁa@@ S W 1331 TG I IR AT 7R 3 991 & qg 1728 R 9T Wi
yr. What is the rate of interest charged, if Thqlg IS Bl R 1 BN, TS T =9 J T H1 UM B ST 872
compounded annually?
A 8.33% 8.33%
B 12% 12%
C 9.09% 9.09%
D 11% 11%
Q.No: 61 If the selling price of an article is 3 times its cost price. The profit is how afc forddl a%q &1 facha g I9& AN T4 T 3 {Fﬂ%l Y, AT G BT foba
many times the cost price? T R?
A 6 times 6 AT
B 3 times 7 7 3 AT 7 7
C 2 times PRICIE
D 1 times 17
O.No: 62 Ravi bought a shoe of Rs 2000 and sold this for Rs 1800. Find the 3 2000 F9T BT T SET T AR T 1800 I o 99 feam
profit or loss and percentage of profit or loss. IR SR Ay T B &7 U < 09 B
VA Rs. 200 & 20% i 4 o - zoogaﬁ? 20% 7
B Rs.200 & 10% 200 U 3R 10%
C Rs.100 & 10% 100 ¥0 R 10%
D

Rs.100 & 20% 100 TUY 3R 20%

Humana buys a radio for Rs 2000. He spend Rs 200 On its 2000 T 1 Y whie 21 a8 4 T 200 T TF 3

. L R . 5 .
Q.No: 63 repairing. If he wants to gain a.proﬁt of 12.5%, determine for AR T 12.5% T A T %, 3 PreiRe a3 7 98 3 &) R 3 3 B
how much he must sell the radio?

A Rs 2475 2475 03
'B Rs 2625 2625 0
C Rs 2025 2025 0
D |Rs 2250 2250 I9
A man travels equal distances of his journey at 40 km/hr, 30 km/hr and e 3ATeH} 3G+ T B THM gt AW 40 fbel/der, 30 fedl/ser 3k 15 fpedy
Q.No: 64 15 km/hr respectively. Find his average speed (in kmph) for whole HeT Bt i § 79 BRa1 31 O I & e I9et i i (et v w9 &) I
‘journey. Fiforal
A 28 28
B 24 24
C 25 25
D 27 27
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You've selected a book that has 500 pages. If you've read 250 pages, S Wﬁ?ﬁw WWW% forei 500 qg%l Tfg M= 250 g TI% %, ar

what percent have you read? TR fFan Tfasrd uegt 82
A 50% 50%
B 250% 250%
c 5% 5%
D 500% 500%

| Rohit calculates the average of 10 positive integers each containing two . y
AT UdH < 3ip! A1 10 YTHS YUITh! P S BT TOFT el §1 Tt 9,
digits. By mistake, the he interchanges the digits of one number. Due to 5 EPT. 5 0 : 3 5 A ?%I ) 98
Q:No: 66 this, the average becomes 2.7 less than the original average. What will = i ﬁ ¥ 8l ‘ kS ¥27
! ' ' AT g1 39 ORI S & G Sl T SfeR T BRI?
be the difference of the two digits of that particular number? il 8

1 1

o 0 w

4
3
2

N W b

SR YUY W Y # ATy gof B S I 81 3 T ARy gof Tt P o bt

A Rs 1000 of hi i h f icul .
No: 67 and e the raney ot 10% el compound ntares. How moch the. 1% ST 0 ol 3 o 3 s affer o 1 1000 T T & A 109%
Q-No: X ° P . e Tehqfe Tt TR OT QR a1 1 3 o & ofa & IR et & wwhe

amount will become at the end of 3 years?

A Rs. 3721 Rs. 3721
B Rs. 3542 ' Rs. 3542
C Rs. 3641  Rs.3641
D Rs. 1331 Rs. 1331
I UH W Y W TR oo B 1 GH B1 31 YF: AR ol AIET B 1 wHA
| A sum borrowed at compound interest rate of
12% per annum is paid in two annual % 12% Ui T B Thdfer SN & TR SYR o TE IR BT YITaH 13328 I Ft &1 e fpzar & fpan o 21

Q-No: 68 installments of Rs. 13328 each. Accordingly, ?ﬁlﬁﬂ?ﬂﬁaﬁl

what was the principal?
A 23520 Rs. 23520 ¥9
B 22525 Rs. 22525 30
C 26656 Rs. / 26656 UL
D 25175 Rs. 25175 ¥Ud

| What will be th i Rs. i h -
No: 69 at will be the compound interest on Rs.8300 in two years when rate 2 auf # 8300 U W E Gl 1 v & 2% T f%?

Q of interest is 2% per annum?
A Rs.382.61 Rs.382.61
B ' Rs.142.31 Rs.142.31
C Rs.335.32 Rs.335.32
D |Rs.487.18 Rs.487.18
Rani purchased a car for Rs. 250000 and sold it for Rs. 348000. What is I 3 T% ®R 250000 00 § T 3R ¥ 348000 I3 § 9 fean| R W
Q.No: 70 the percent profit on the car? IRfa Eﬂﬂﬁmiﬂr%?
A 40 40
B 38 38
c 38.4 38.4
D 39.2 39.2
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Q.No: 71

o 0o W r

Q.No: 72

o 0O W >

Q.No: 73

o 0 w >

Q.No: 74

O 0o w >

Q.No: 75

O 0 w »

eY

Which of the following will come in the place of question mark?
a_b_a_a_bba_a_bbbb

abbabb

aabbba

bababa

ababaa

Find the missing term.

324 951 786

Which of the following will come in the place of question mark?
ba-b-aabb-a--a-b

ababba

bababa

ababab

bbaabb

In the question given below, some statements are given followed by few
conclusions. You have to consider the statements to be true even they
seem to be at variance from commonly known facts. You have to decide
which of the given conclusions, if any follow from the given statements.

Statements:

All clocks are rocks.

No calendar is a mock.
Some clocks are calendars.
Conclusions:

I. No clock is a mock.

II. Some rocks are clock.

GET IT ON

Google Play

Frafaied & T 31 uyae® fog & RME W Sen?

a_b_a_a_bba_a_bbbb

abbabb

aabbba

bababa

ababaa

ESRERISEIEY]
824 951 786
7 C F
412 317 131

A

B

Cc

D

31 YRSl $1 Ue Ufeki § X 1Y
In arow of 31 men, X ix 19% from left end and Y is 17 from right end. Then find how many mens are 3R ¥ 19;ﬁﬂ g Ggéq ?H;S@XT q
between X and Y? iﬁ?ﬁ% é;‘ﬁm e 2
s .
7 7
3 3
9 9

Frofefes & & o1 vy fore & ®IF T o ?
ba-b-aabb-a--a-b

ababba

bababa

ababab

bbaabb

R faw e uy F, T FUA IR I9F 918 T Fmy QT M 1 M Bl B
T HE R, W € A WA Tid ae § i ol g g1 el 98 99 e §
% few T et © § @9 W, ok % |, QU T FU BT SR B 7

B

Folt wfat wgH 7

1E Wt HeeR bl T B
TO Ursar sk 5l
s

1 BI% o ugt el T &1
11. $9 IgH uieai ¢
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both conclusion I and II follow

o 0 wm >

either conclusion I or II follows
only conclusions II follows

only conclusion I follows

M ranks 5th from right. N ranks 8th from left. If T is 9th After M and
Q.No: 76 justin the middle of M and N, then how many students are there in

GET IT ON
Google Play
s 1 2R 1T Y SRR B B
a1 &t frepd 1 a1 11 SgEROT BRar B1
Faa e 11 SRR H3ar §
Faa freed 1 SrgER Hear §

MR MISTRMAREINTE RIS ARSI TR T,
M & dTE A4 RIF R 99T M 3R N & 3l 7en § 8, @ pan § fbaq om 82

the class?
A 31 31
B 29 29
C 30 30
D 32 32
Q.No: 77 |1f X = 48 and ACT = 48, then TALL = _____ e X = 48 FARACT =48, ANTALL = _____ gl
A 45 45
B 92 92 R
(o 90 90
D 88 88

IR UY W YG | AR oo Bt 1 g §1 30 T SR gof Al BT 1 FHA
'In the question below, there are few statements followed by
few conclusions. You have to take the given statements to be true even | =Ia fau 7T uy &, EZ FUl & TG Wﬁﬁﬂfﬁq T §| YT 3T T HoHT Y
if they seem to be at variance with commonly known facts and then | g AT ], W g 9 UAR: I aet @ e vdila g oik fisr e & e g

decide which of the given conclusion logically follow(s) from the given sl & § &1 91 3T 7Y ST 1 aifthes &U ¥ SR Bl B

statements. ‘ -

Statements: g, :ZE:@'%I
Q.No: 78 All drops are not decrease. e %I

Some decrease are replace. ‘H‘lﬂ , &W%'I

All replace are decline. Prep:

Conclusions: (oo e

1. Some drop are not replace. . EEY, % I

I1. All drop are replace.
A Only conclusion II folloWs b 7 $aa ey 1T STFAXOT Bl %
B Neither conclusion I nor 1I follows T frssd 19§ 11 ST Bl g
Cc Either conclusion I or II follows a1 ot e 1 @ 11 SIHOT XAl g
D Only conclusion I follows Faa e 1 STERT Earikd

If in a certain language, EXAMPLE is coded as :
Q.No: 79 :z\:]VgZuLaOQIZB, how will ELECTION he coded in that EfAmilfﬁlgTvzﬁLOKD = 7 greas R T 2, @ S W ELECTION @t ) grea R w2
A DKDBSHNM DKDBSHNM
B DKDBSJHM DKDBSJHM
C | DKEBSHNM DKEBSHNM
D EKDBSHNM EKDBSHNM
Q.No: 80 :2:; r:t[;l;:n::::efﬁ:rzi l::]]:; i:;i;B from the bottom in a class. How U B T ) Y 2§ 184 iR A D 238 21 e  fead o 22
A 38 38

Page- 14


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai2y7 Eoogle Play

40 40
C a2 42
D 35 35

Q.No: 81 If ‘blue’ is called ‘red’, ‘red’ is called ‘green’, ‘green’ is called ‘black’ and afe i &) ‘A’ weT Sar %, ‘AT’ B G YT Al %, B B BT HET S %

‘black’ is called ‘white’ then what is the colour of ‘grass’? IR ‘PR P T Pal rdl % @ YT T 1 g ?
A | Green |&wr
B ‘White | wpg
C Black Cani
D Red ks

In a row of 25 students, A is 13% from right end. Then find the rank of A from left end. 25 Bl 1 e ufda & A A BR ¥ 139 VM R 2

Q.No: 82 o 0 BR ¥ A $ ¥ T BIRE?
A '10th J;’ﬁ o

B ‘12th 12

c 13th 133

D | 16th 168t

I UH W qd § Ui oot B 91 gt Bl 3r: Y: AUt ot el B S qHb |
Q.No: 83 \ If EAGER is coded as 51759 then how will CADET be coded? |af¢ EAGER &I 51759 & ¥U ¥ Heas a1 Sl § A CADET &1 ford w4 & geag forar smem?

A 131450 31450
B ‘34157 34157
[ 31457 31457
D 31547 31547
Find the missing term. @T‘T‘EWWI
Q.No: 84
A ‘ 144 144
B 128 128
c 189 189
D 180 180
Find the missing term. @ UQ F1d Bl
11 33 11 33
Q.No: 85 o o
3 3
7| 99 71 99
A 1279 279
299 299
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227 227

D 297 297

Q.No: 86 The least number which when divided by 5, 6 and 7 leaves remainder 1, 8 a9 S& 91 211t B 5, 6 3R 7 | AU #=7 R Auwd

2 and 3 respectively is: FUR 1, 2 3R 3 ITAT 87

A 206 206

B 420 420

C 214 214

D 210 210

Q.No: 87 | Which of the following is divisible by 9? ffafea & 9 o1 9 3 faursg &2
A 285939 285939

B 714622 714622

C 789122 789122

D 1681231 681231

I U W gd & Smuly gof o A1 gHt T S Y MURT gof T B =1 qbfty

Q.No: 88 | Amit was born 5 years before Rakesh. Rakesh is 3 years younger to I ¥ 5 Il Ugal i &1 = gl Ul by, M 4 3 a¥ Bher 81 Al

Anil. If Amit is now 17 years old, how old is Anil(in years)? 3T 3 17 Hﬂfav‘[%, o e Bt 31 M%(atﬁﬁ)?
A |19 19
B 12 12
C '8 ' 8
D 15 15

| Ten years ago, the age of Anand was one-third the age of Bala at that W a9 Ugd, g B 31 39 qHY §ral @I Mg oIt fagrs &t oren @t aqqH
Q.No: 89 time. The present age of Bala is 12 years more than the present age of 37T 3fFg $I Ja0H G ¥ 12 T 3w g1 Mg BT TAHH 3R FIA Biforg| (T8

‘Anand. Find the present age of Anand. (in years) )
A 16 16
B 20 20
c 18 18
D 14 14

What value would come in place of the question mark (?) in the following | fmfifEa Tfie=r § wearE % (7) & RIF W &1 71 Q2

equation?
Q.No: 90

5 5 (39)% (24)*= 1800 7 %
(39)2- (24)°= ? % of 1800

A 58.50 58.50
B 162.50 62.50
C 52.50 52.50
D | 42.25 42.25

Simplify: IR B
Q.No: 91 .

(81)* + (9 =7 (81)* - (9)5 =7
A 81 81
B 9 9
C 729 729
D 16561 6561
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FF WY R g4 F i gof B o1 gt Bl 3 G: Sma gt 1Sl W wdhi

What will come in place of the question mark in the following question?

.No: 92
QMO 9214 04)2 = (0.008) x (0.2)5 = (0.2)?
A 7
B 6
C 8
D 5

Q.No: 93 ‘ Find the largest fraction of the following fractions?

GET IT ON

Google Play

rafea vy ® vy fIg & ®M W T s

(0.04)2 + (0.008) x (0.2)¢ = (0.2)?
7
6
8
5

fFrafafed el & & wod 9t firw 91 #ife?

41
A 76
52
B a7
4
c =]
111
D 130
Find the largest number of two digit, which divides 211 and 396 giving
Q.No: 94 .
‘ the same remainder?
A \ 21
B 37
C 185
D 43

Q.No: 95 Check which number is divisible by 18.

41
76

3l 3ol B! I8 IS T IS GO T Y, T 211 3R 396 F U 3| W UG
fRufer & gar QAute U gir 87

21
37
185
43

| P < dem 18 ? Av=a B

73522

A 173522
B 64432
c 93636
D /55354

Three Men A,B and C walks around a circle 1200 m circumference at the

rate of 60,40 and 30m/min respectively. If they all start together and

64432
93636
55354

@9 Q29 A, B 3R C HHI: 60, 40 3R 30 Hiez/fFe Bt X ¥ 1200 Hiex 3t uRkfy

B-Ro: 96 :\;::llii;ngt:;:i::me direction ,when will they 1st be together again at the ;g%ﬁ%{ﬁ %g%m;?&ﬁi R T g foen #
A 180 180

B 60 60

o 90 90

D 120 120

Q.No: 97  Which of the following is divisible by 7? g Y o9 7 3 fiusa g2

A 19543 9543

B 8768 8768

c 6543 6543

D 14287 14287
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Q.No: 98 The sum of the ages of five children born at the intervals of 3 years each, | diF g8 & ofdRrel & o1 5 I=a! @1 3 BT & AN 50 T 7| T4 B 5=
is 50 yrs. What is the age of the youngest child? Eil S R’ g
A 6 6
B 3 3
C 4 4
D 5 5
The area of a square park is the same as of rectangular park. If the side | U FHR Ul BT EFHT HADR U & b & A 2| afe TR Uih Bt
Q.No: 99 of the square park is 80m and the length of the rectangular park is 100 | Yo 80 H 3R SRIAIGR U F TaTs 100 T B STIGER UTH Bt AT 1
m. Find the breadth of the rectangular park. PRl
A 63 63
B 64 64
€ 32 32
D 96 96
© MPESB. Al rights reserved
The ratio of length and breadth of a rectangle is 5 : 2 and the TP ATd E4| Eﬁﬂé GﬁT?ﬁE’éEﬂ 3l 5: 2 % 3R ufmm 70 @:ﬁ%l
Q:No: ‘100 perimeter is 70 cm. What is the area of the rectangle? T BT ST ?RJT%?
A 250 sq cm. 250 T 9t
B 150 sq cm. 150 oif |t
c 200 sq cm. 200 aif I
D 400 sq cm. | 400 o ¥
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